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Time: 35 Minutes | Paper Math 6 (T-1) |  Total Marks: 25 |

| 2nd Month, 4th Week, 5th Day | Revision Test (4th Week) |

Q.1. Choose the correct options. 1x13=13) - /.fl?"'lg,«lﬁw/;

(i) The word "per-centum' meaning is out of:

e vt

(a) 10 (b) 100 (©) 1000 d) 10,000
(ii) Statement form of set is also known as: ug;’:'f:(}(’éf JugJ_*{
(a) [Tabular form 3 PG
(b) [Descriptive form 3 )”,y
(¢) [Set-builder form LA
(d) [Roster form (/ 6=
(iii) The second term in the ratio is called: Z‘Lblh(d?’/:)ufcffj
(a) consequent &f(f 1 (b) antecedent £%3(S (3’3"
(c) numerator a,ﬂj ¢ (d) denominator 0] f

(iv) To find the total number of subsets of any given set we use:

e SISt F e 5L r s

(a) 2n (b) n, (c) n2 ) 2"
(v) A set containing no element is known as: :c"_t‘llz&;dg‘jfgﬂgﬂ.b:lfgl
(a) | universal set &{J’Jxﬁ;j (b) | empty set bl
(c)| subset .‘L{G} (d) | singleton set .‘L{UZL{

(vi) The ratio between the length and breadth of our national flag is:

:‘acffjuyx;éélbguléw&/.ﬁz’ S e la

(a) 2:3 b) 3:2 © 1:2 d 3:1

(vii) A decrease of 7% in Rs. 1200 is: :c'_of Jyé7ufé;;/1200

¢

(@) [Rs. 70 &2,70|(b)|Rs. 74 &<1,74|(c) [Rs. 84 < 2,84|(d)|Rs. 90 < 1.90

(viii) The ratio has no: L L/

(a) [symbol «~k|(b)|value 4‘4{!‘: (¢) [importance=-4/] (d) | unit =

S

1

(ix) 12 out of 15 can be written in percentage as: Z‘LM(}IZKIS
(a) 70% (b) 80% (c) 85% (d) 90%
x) IfP=1{2,3,5, ... }thenS P, put the correct sign.
L ertoernss  PIP=1{2,3,5u} )
w = Jof ¢ Jo| - Jaof ~+ |
(xi) What is the tabular form of first five whole numbers?

S PG ML

(a)

{1, 2,3} M| {1,2,3,4} (]| {0,1,2,3,4,5} [(@)| {0, 1,2, 3,4}

(xii)

A set having fixed number of countable elements is called set:

:‘aka:{_étgt;%ﬁumwuf"éufmlé’

(a)

universal J’/}.’:g (b) | infinite dftz/:f (c) | empty d6 | (d)| finite (b

N’

(xiii) Which of the following is the symbol of empty set?

fe e rdbartie Ui 3t

(a)

= o) < © ¢ (d) <

Q.2.

®
(i)

(iii)
(iv)

Q3.
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Write the name of your all family members in set notation then write a

Answer the following questions: (4x2=8)

Define ratio and percentage.

subset of your family members.
-ufgqfﬁl)léul}l}/ﬁ.w.’@f:K(té;l}lr(?&uwl}'%l

NSy IO T INAL,

Aleezey bought a doll for Rs. 1500 getting a decrease of 32%. Find

Define universal and infinite set.

original price of the doll.
e d S LS 8a A f.gui'%ulsoopzédffy&oz_g. P
Write the folllowing sets in descriptive form of sets. (1x4=4)
28 bt st
i F={21,22,23,24,25,26,27,28,29,30}
(ii) B = {Football, Hockey, Cricket, Badminton}
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